**Bid** Abstract

14 DUST ABATEMENT

POLLUTION CONTROL

15 STORMWATER AND NON-STORMWATER L.S.

# **Riverside County Flood Control & Water Conservation District**

1995 Market St. Riverside, CA 92501 Phone: 951.955.1200 Fax: 951.788.9965

\$5,000.00

\$5,000.00

1

1

### Project Name: CABAZO

L.S.

| Project Name: CABAZON CHANNEL REPAIRS<br>Project Number: 5-0-0130-00<br>Bid Open Date: 01/12/2012 | S AND M | IONTGOME | CRY CHANNEL | POWELL ENGINEERING<br>CONSTRUCTION |             |             |             |             |
|---|---------|----------|-------------|------------------------------------|-------------|-------------|-------------|-------------|
| Item No. & Description  | Unit    | Quantity | Unit Bid    | Total Bid                          | Unit Bid    | Total Bid   | Unit Bid    | Total Bid   |
| 1 MOBILIZATION  | L.S.    | 1        | \$20,000.00 | \$20,000.00                        | \$15,000.00 | \$15,000.00 | \$3,500.00  | \$3,500.00  |
| 2 WATER CONTROL   | L.S.    | 1        | \$10,000.00 | \$10,000.00                        | \$8,000.00  | \$8,000.00  | \$3,500.00  | \$3,500.00  |
| 3 CLEARING AND MISCELLANEOUS WORK   | L.S.    | 1        | \$25,000.00 | \$25,000.00                        | \$15,000.00 | \$15,000.00 | \$5,500.00  | \$5,500.00  |
| 4 V-DITCH EXCAVATION  | C.Y.    | 58       | \$20.00     | \$1,160.00                         | \$50.00     | \$2,900.00  | \$40.00     | \$2,320.00  |
| 5 COMPACTED FILL, ACCESS ROAD   | C.Y.    | 290      | \$20.00     | \$5,800.00                         | \$30.00     | \$8,700.00  | \$30.00     | \$8,700.00  |
| 6 SLURRY CEMENT BACKFILL  | C.Y.    | 30       | \$100.00    | \$3,000.00                         | \$100.00    | \$3,000.00  | \$90.00     | \$2,700.00  |
| 7 TRENCH SAFETY SYSTEM  | L.S.    | 1        | \$2,000.00  | \$2,000.00                         | \$3,000.00  | \$3,000.00  | \$2,000.00  | \$2,000.00  |
| 8 CLASS "A" CONCRETE  | C.Y.    | 116      | \$500.00    | \$58,000.00                        | \$325.00    | \$37,700.00 | \$285.00    | \$33,060.00 |
| 9 CLASS "B" CONCRETE, 2' CUTOFF WALL  | L.F.    | 332      | \$20.00     | \$6,640.00                         | \$28.00     | \$9,296.00  | \$25.00     | \$8,300.00  |
| 10 CLASS "B" CONCRETE, 6' CUTOFF WALL   | L.F.    | 29       | \$60.00     | \$1,740.00                         | \$84.00     | \$2,436.00  | \$200.00    | \$5,800.00  |
| 11 JUNCTION STRUCTURE NO. 6   | EACH    | 1        | \$2,000.00  | \$2,000.00                         | \$5,000.00  | \$5,000.00  | \$27,000.00 | \$27,000.00 |
| 12 AGGREGATE BASE, CLASS 2  | C.Y.    | 73       | \$60.00     | \$4,380.00                         | \$35.00     | \$2,555.00  | \$55.00     | \$4,015.00  |
| 13 6-FOOT CHAIN LINK FENCE  | L.F.    | 145      | \$20.00     | \$2,900.00                         | \$20.00     | \$2,900.00  | \$72.00     | \$10,440.00 |
|   |         |          |             |                                    |             |             |             |             |

\$5,000.00

\$5,000.00

\$152,620.00

\$3,000.00

\$3,000.00

\$3,000.00

\$3,000.00

\$121,487.00

\$3,500.00

\$3,500.00

\$3,500.00

\$3,500.00

\$123,835.00

**Project Number:** 5-0-0130-00 *Bid Open Date:* 01/12/2012

| <i>Bid Open Date:</i> 01/12/2012                      |      |          | TRYCO GE<br>ENGINEI |              | STI, INC. TR<br>MAT |              | KORN       | MX, INC.     |
|---|------|----------|---------------------|--------------|---------------------|--------------|------------|--------------|
| Item No. & Description                                | Unit | Quantity | Unit Bid            | Total Bid    | Unit Bid            | Total Bid    | Unit Bid   | Total Bid    |
| 1 MOBILIZATION  | L.S. | 1        | \$12,000.00         | \$12,000.00  | \$15,500.00         | \$15,500.00  | \$6,700.00 | \$6,700.00   |
| 2 WATER CONTROL                                       | L.S. | 1        | \$2,500.00          | \$2,500.00   | \$3,250.00          | \$3,250.00   | \$1,000.00 | \$1,000.00   |
| 3 CLEARING AND MISCELLANEOUS WORK                     | L.S. | 1        | \$6,300.00          | \$6,300.00   | \$16,000.00         | \$16,000.00  | \$6,000.00 | \$6,000.00   |
| 4 V-DITCH EXCAVATION                                  | C.Y. | 58       | \$107.00            | \$6,206.00   | \$150.00            | \$8,700.00   | \$150.00   | \$8,700.00   |
| 5 COMPACTED FILL, ACCESS ROAD                         | C.Y. | 290      | \$54.00             | \$15,660.00  | \$64.74             | \$18,774.60  | \$75.00    | \$21,750.00  |
| 6 SLURRY CEMENT BACKFILL                              | C.Y. | 30       | \$240.00            | \$7,200.00   | \$159.17            | \$4,775.10   | \$200.00   | \$6,000.00   |
| 7 TRENCH SAFETY SYSTEM                                | L.S. | 1        | \$2,800.00          | \$2,800.00   | \$3,500.00          | \$3,500.00   | \$1,500.00 | \$1,500.00   |
| 8 CLASS "A" CONCRETE                                  | C.Y. | 116      | \$188.00            | \$21,808.00  | \$232.76            | \$27,000.16  | \$402.50   | \$46,690.00  |
| 9 CLASS "B" CONCRETE, 2' CUTOFF WALL                  | L.F. | 332      | \$59.00             | \$19,588.00  | \$17.01             | \$5,647.32   | \$25.00    | \$8,300.00   |
| 10 CLASS "B" CONCRETE, 6' CUTOFF WALL                 | L.F. | 29       | \$304.00            | \$8,816.00   | \$270.69            | \$7,850.01   | \$200.00   | \$5,800.00   |
| 11 JUNCTION STRUCTURE NO. 6                           | EACH | 1        | \$8,400.00          | \$8,400.00   | \$3,875.00          | \$3,875.00   | \$7,500.00 | \$7,500.00   |
| 12 AGGREGATE BASE, CLASS 2                            | C.Y. | 73       | \$78.00             | \$5,694.00   | \$67.70             | \$4,942.10   | \$110.00   | \$8,030.00   |
| 13 6-FOOT CHAIN LINK FENCE                            | L.F. | 145      | \$36.00             | \$5,220.00   | \$35.00             | \$5,075.00   | \$45.00    | \$6,525.00   |
| 14 DUST ABATEMENT                                     | L.S. | 1        | \$3,400.00          | \$3,400.00   | \$4,250.00          | \$4,250.00   | \$2,500.00 | \$2,500.00   |
| 15 STORMWATER AND NON-STORMWATER<br>POLLUTION CONTROL | L.S. | 1        | \$3,974.00          | \$3,974.00   | \$4,500.00          | \$4,500.00   | \$5,000.00 | \$5,000.00   |
|   |      |          |                     | \$129,566.00 |                     | \$133,639.29 |            | \$141,995.00 |

Page 2 of 5

**Project Number:** 5-0-0130-00 *Bid Open Date:* 01/12/2012

| <i>Bid Open Date:</i> 01/12/2012                      |      |          | REGENCY-<br>DEVELOPMI |              | SEAN MAL<br>CON |              | SUPERIC     | OR GUNITE    |
|---|------|----------|-----------------------|--------------|-----------------|--------------|-------------|--------------|
| Item No. & Description                                | Unit | Quantity | Unit Bid              | Total Bid    | Unit Bid        | Total Bid    | Unit Bid    | Total Bid    |
| 1 MOBILIZATION  | L.S. | 1        | \$25,000.00           | \$25,000.00  | \$3,000.00      | \$3,000.00   | \$10,000.00 | \$10,000.00  |
| 2 WATER CONTROL                                       | L.S. | 1        | \$1,500.00            | \$1,500.00   | \$3,000.00      | \$3,000.00   | \$2,000.00  | \$2,000.00   |
| 3 CLEARING AND MISCELLANEOUS WORK                     | L.S. | 1        | \$57,000.00           | \$57,000.00  | \$48,000.00     | \$48,000.00  | \$12,000.00 | \$12,000.00  |
| 4 V-DITCH EXCAVATION                                  | C.Y. | 58       | \$25.00               | \$1,450.00   | \$50.00         | \$2,900.00   | \$100.00    | \$5,800.00   |
| 5 COMPACTED FILL, ACCESS ROAD                         | C.Y. | 290      | \$22.00               | \$6,380.00   | \$20.00         | \$5,800.00   | \$60.00     | \$17,400.00  |
| 6 SLURRY CEMENT BACKFILL                              | C.Y. | 30       | \$60.00               | \$1,800.00   | \$200.00        | \$6,000.00   | \$140.00    | \$4,200.00   |
| 7 TRENCH SAFETY SYSTEM                                | L.S. | 1        | \$0.00                | \$0.00       | \$3,000.00      | \$3,000.00   | \$1,000.00  | \$1,000.00   |
| 8 CLASS "A" CONCRETE                                  | C.Y. | 116      | \$81.00               | \$9,396.00   | \$300.00        | \$34,800.00  | \$400.00    | \$46,400.00  |
| 9 CLASS "B" CONCRETE, 2' CUTOFF WALL                  | L.F. | 332      | \$75.00               | \$24,900.00  | \$50.00         | \$16,600.00  | \$30.00     | \$9,960.00   |
| 10 CLASS "B" CONCRETE, 6' CUTOFF WALL                 | L.F. | 29       | \$150.00              | \$4,350.00   | \$300.00        | \$8,700.00   | \$200.00    | \$5,800.00   |
| 11 JUNCTION STRUCTURE NO. 6                           | EACH | 1        | \$3,600.00            | \$3,600.00   | \$3,000.00      | \$3,000.00   | \$31,050.00 | \$31,050.00  |
| 12 AGGREGATE BASE, CLASS 2                            | C.Y. | 73       | \$25.00               | \$1,825.00   | \$50.00         | \$3,650.00   | \$70.00     | \$5,110.00   |
| 13 6-FOOT CHAIN LINK FENCE                            | L.F. | 145      | \$15.00               | \$2,175.00   | \$50.00         | \$7,250.00   | \$34.00     | \$4,930.00   |
| 14 DUST ABATEMENT                                     | L.S. | 1        | \$5,424.00            | \$5,424.00   | \$5,000.00      | \$5,000.00   | \$2,400.00  | \$2,400.00   |
| 15 STORMWATER AND NON-STORMWATER<br>POLLUTION CONTROL | L.S. | 1        | \$4,600.00            | \$4,600.00   | \$1,225.00      | \$1,225.00   | \$2,000.00  | \$2,000.00   |
|   |      |          |                       | \$149,400.00 |                 | \$151,925.00 |             | \$160,050.00 |

Page 3 of 5

**Project Number:** 5-0-0130-00 *Bid Open Date:* 01/12/2012

| <i>Bid Open Date:</i> 01/12/2012  |                                      |                             | KAVEH ENG<br>CONSTRUCT   |   | O'CON<br>ENGINEI   | ERING &  | GENERAL H  | ON-CHASE<br>ENGINEERING  |
|---|--------------------------------------|-----------------------------|--|---|--|--|--|--|
| <i>Item No. &amp; Description</i><br>1 MOBILIZATION   | <i>Unit</i><br>L.S.                  | Quantity                    | <i>Unit Bid</i><br>\$1,500.00                                  | <b>Total Bid</b><br>\$1,500.00  | CONSTRUC<br>Unit Bid<br>\$17,000.00                          | CTION, INC.<br><i>Total Bid</i><br>\$17,000.00                       | <b>CONSTRU</b><br>Unit Bid<br>\$18,000.00                    | J <b>CTION, INC.</b><br>\$18,000.00                                  |
| <ul><li>2 WATER CONTROL</li><li>3 CLEARING AND MISCELLANEOUS WORK</li></ul>   | L.S.<br>L.S.<br>L.S.                 | 1                           | \$3,000.00<br>\$5,000.00                                       | \$3,000.00<br>\$5,000.00  | \$7,000.00<br>\$29,500.00                                    | \$7,000.00<br>\$29,500.00  | \$2,300.00<br>\$13,000.00                                    | \$2,300.00<br>\$13,000.00  |
| <ol> <li>V-DITCH EXCAVATION</li> <li>COMPACTED FILL, ACCESS ROAD</li> </ol>   | C.Y.<br>C.Y.                         | 58<br>290                   | \$97.00<br>\$24.00   | \$5,626.00<br>\$6,960.00  | \$40.00<br>\$59.00   | \$2,320.00<br>\$17,110.00  | \$57.00<br>\$57.00   | \$3,306.00<br>\$16,530.00  |
| <ul> <li>6 SLURRY CEMENT BACKFILL</li> <li>7 TRENCH SAFETY SYSTEM</li> <li>8 CLASS "A" CONCRETE</li> <li>9 CLASS "B" CONCRETE, 2' CUTOFF WALL</li> <li>10 CLASS "B" CONCRETE, 6' CUTOFF WALL</li> </ul> | C.Y.<br>L.S.<br>C.Y.<br>L.F.<br>L.F. | 30<br>1<br>116<br>332<br>29 | \$145.00<br>\$2,000.00<br>\$575.00<br>\$75.00<br>\$500.00      | \$4,350.00<br>\$2,000.00<br>\$66,700.00<br>\$24,900.00<br>\$14,500.00 | \$170.00<br>\$2,700.00<br>\$500.00<br>\$50.00<br>\$145.00    | \$5,100.00<br>\$2,700.00<br>\$58,000.00<br>\$16,600.00<br>\$4,205.00 | \$135.00<br>\$1,800.00<br>\$660.00<br>\$56.00<br>\$156.00    | \$4,050.00<br>\$1,800.00<br>\$76,560.00<br>\$18,592.00<br>\$4,524.00 |
| <ol> <li>JUNCTION STRUCTURE NO. 6</li> <li>AGGREGATE BASE, CLASS 2</li> <li>6-FOOT CHAIN LINK FENCE</li> <li>DUST ABATEMENT</li> <li>STORMWATER AND NON-STORMWATER<br/>POLLUTION CONTROL</li> </ol>     | EACH<br>C.Y.<br>L.F.<br>L.S.<br>L.S. | 1<br>73<br>145<br>1<br>1    | \$10,000.00<br>\$133.00<br>\$45.00<br>\$2,000.00<br>\$2,000.00 | \$10,000.00<br>\$9,709.00<br>\$6,525.00<br>\$2,000.00<br>\$2,000.00   | \$4,000.00<br>\$80.00<br>\$28.00<br>\$2,700.00<br>\$2,700.00 | \$4,000.00<br>\$5,840.00<br>\$4,060.00<br>\$2,700.00<br>\$2,700.00   | \$1,800.00<br>\$81.00<br>\$42.00<br>\$3,700.00<br>\$6,000.00 | \$1,800.00<br>\$5,913.00<br>\$6,090.00<br>\$3,700.00<br>\$6,000.00   |
|   |                                      |                             |  | \$164,770.00  |  | \$178,835.00   |  | \$182,165.00   |

Page 4 of 5

 Project Number:
 5-0-0130-00

 Bid Open Date:
 01/12/2012

| <i>Bid Open Date:</i> 01/12/2012      |      |          | EARTH CONSTRUCTION &<br>MINING |             | POST EARTHWORKS<br>CONSTRUCTORS, INC. |             |
|---------------------------------------|------|----------|--------------------------------|-------------|---------------------------------------|-------------|
| Item No. & Description                | Unit | Quantity | Unit Bid                       | Total Bid   | Unit Bid                              | Total Bid   |
| 1 MOBILIZATION                        | L.S. | 1        | \$40,000.00                    | \$40,000.00 | \$14,728.86                           | \$14,728.86 |
| 2 WATER CONTROL                       | L.S. | 1        | \$4,500.00                     | \$4,500.00  | \$5,000.00                            | \$5,000.00  |
| 3 CLEARING AND MISCELLANEOUS WORK     | L.S. | 1        | \$44,000.00                    | \$44,000.00 | \$22,146.70                           | \$22,146.70 |
| 4 V-DITCH EXCAVATION                  | C.Y. | 58       | \$80.00                        | \$4,640.00  | \$150.88                              | \$8,751.04  |
| 5 COMPACTED FILL, ACCESS ROAD         | C.Y. | 290      | \$62.00                        | \$17,980.00 | \$76.90                               | \$22,301.00 |
| 6 SLURRY CEMENT BACKFILL              | C.Y. | 30       | \$180.00                       | \$5,400.00  | \$83.33                               | \$2,499.90  |
| 7 TRENCH SAFETY SYSTEM                | L.S. | 1        | \$2,350.00                     | \$2,350.00  | \$2,500.00                            | \$2,500.00  |
| 8 CLASS "A" CONCRETE                  | C.Y. | 116      | \$375.00                       | \$43,500.00 | \$797.35                              | \$92,492.60 |
| 9 CLASS "B" CONCRETE, 2' CUTOFF WALL  | L.F. | 332      | \$30.00                        | \$9,960.00  | \$64.94                               | \$21,560.08 |
| 10 CLASS "B" CONCRETE, 6' CUTOFF WALL | L.F. | 29       | \$120.00                       | \$3,480.00  | \$233.13                              | \$6,760.77  |
| 11 JUNCTION STRUCTURE NO. 6           | EACH | 1        | \$5,200.00                     | \$5,200.00  | \$9,898.15                            | \$9,898.15  |
| 12 AGGREGATE BASE, CLASS 2            | C.Y. | 73       | \$83.00                        | \$6,059.00  | \$199.12                              | \$14,535.76 |
| 13 6-FOOT CHAIN LINK FENCE            | L.F. | 145      | \$60.00                        | \$8,700.00  | \$41.38                               | \$6,000.10  |
| 14 DUST ABATEMENT                     | L.S. | 1        | \$18,000.00                    | \$18,000.00 | \$6,000.00                            | \$6,000.00  |
| 15 STORMWATER AND NON-STORMWATER      | L.S. | 1        | \$4,000.00                     | \$4,000.00  | \$6,000.00                            | \$6,000.00  |
| POLLUTION CONTROL                     |      |          |                                |             |                                       |             |
|                                       |      |          |                                | Ø317 7/0 00 |                                       | ¢241 174 06 |

\$217,769.00

\$241,174.96

Page 5 of 5